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U = . The uniform slender pole shown in Fig.3 has a mass of 100kg and a moment of inertia
L ARALE 48 5H2B 2 £ 1005 -
Q. 1B KA - TRAKIRAEL » RabdvAa - I = 75kg -m? . If the coefficients of static and kinetic friction between the end of the
3EHERNRLEREZERMARE  FHNATHS - pole and the surface are 1, =0.3 and p, =0.25, respectively, determine the pole’s

— ~ Determine the speed of block A in Fig. 1. Block B has an upward speed of 20 m/s. (25%) angular at the instant the 400 N horizontal force is applied. The pole is originally at rest.

WAIRS 5SS HIRIE BB IPIPI IS IID (25%)
)
A
3m
400N
A B
{ 3 0.5m
B SIS
T 20m/s Fig. 3
+ A beam supports a distributed load as shown in Fig 4.
Fig. 1 1. Determine the equivalent concentrated load. (Please write the location and the
load.)(15%)
— ~ A smooth 2-kg collar C, shown in Fig. 2, fits loosely on the vertical shaft. If the spring is 2. Determine the reactions at the supports.(10%)
upstretched when the collar is in the horizontal positon A. (the spring has a stiffness of
AN, 4500N/m

1. Determine the speed at which the collar is moving when y=1 m if it is released from

rest at A. (15%)
2. Determine the speed at which the collar is moving when y=1 m if it is released at A 1500N/

with an upward velocity Va= 2 m/s. (10%) \
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